Course: AP Calculus AB | Quiz: 17 | Instructor: D. Shubleka

Name No Calculators. Present neatly. Score
1.

Find the coordinates of the point in the first quadrant at
which the tangent line to the curve x> —xy 4+ y> =0 is
parallel to the x-axis.

Your work:
X —xy+y =0

dy , ,dy
3x7—y-—x—=+3y" == =0

Y dx Y dx

dy 2 » _dy y-3x
— @y ' -x)=y-3x"—>—=
dx(y )=y dx 3y’ -x
slope =0

2
ﬂ=y—23x —>y—3x2=0—>y=3x2
dx 3y -x

Plug this into the original equation:

¥ = x(30)+(32%) =0 = 20" 4274 =0 > X' (274" ~2) =0

1/3 2/3
x=O;x=T—>y=0;y=—

3
21/3 22/3

Note:x>0,y>0
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Find the coordinates of the point in the first quadrant at
which the tangent line to the curve x> —xy 4+ y* =0 is
parallel to the y-axis.

Your work:

X =xy+y =0
3x2—y—x%+3y2%=0
%<3y2—x>=y—3x2e%=§y‘f_";

slope = undefined

2
@=y—3x —>3y2—x=0—>x=3y2

dx 3y’ -x
Plug this into the original equation:

(3°) - (35) 3+ =0 =27y°-2y" =0 y'27y' ~2)=0

22/3 21/3

Note:x>0,y>0




